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SECTION A (30 marks)
Answer all questions in this section.
The physiotherapist at the hospital treats clients from all lifestages.

His regular clients include:
Mrs. Owen aged 74,
Thomas aged 14,

Gaynor aged 33,
Paddy aged 3,
Shauna aged 4.
In the chart below name one person from the list for each lifestage. [5]
Name
Infancy 1)
Childhood (i1)
Adolescence (iii)
Adulthood (iv)
Later adulthood (v)
Which area of development is a physiotherapist most likely to assist? [1]

Thomas has to have treatment to help him walk again after being seriously injured in a car

accident. Is serious injury an expected or unexpected life event? [1]
Suggest two physical changes a 14 year old boy is likely to have experienced. [2]

(1) e
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Using the information in the table below, state the main area of development which would be

affected.

[5]

Main area of development affected

Having a well-balanced diet. (1)
A weekly visit to the gym. (i1)
Being a member of the library. (iii)
Getting divorced. @iv)
Regularly visiting a day centre. )

Turn over.
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(a)

(b)

Morgan is a 38 year old man.

Underline two of the following that could positively affect his self-concept: [2]
(i) being promoted at work

(i)  visiting the dentist for a check up

(iii))  getting married

(iv)  being made redundant.

Morgan’s wife, Jody, has been married before and already has two children.
She and Morgan are now expecting a baby.

State two areas of Jody’s development most likely to be affected by the pregnancy. [2]

0SSO
(1) e
What will be the relationship of the new baby to Jody’s other two children? [1]

In the first few months after the baby is born it will grow and develop quite quickly.
Give one milestone of physical development a baby should achieve in the first three
months. [1]

Babies quickly form emotional attachments with their main carers.
What is this known as? [1]

As parents Morgan and Jody want to make sure their children are happy.
One important feature of good family relationships is protection.

Identify three other features of good family relationships. [3]
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Recreational activities can promote development during all lifestages.

Complete the table below suggesting one suitable recreational activity for each area of
development in later adulthood.

Suggest how the activity promotes each area of development. [6]

Area of development

Activity

How it promotes development

Physical

Intellectual

Social

Turn over.
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SECTION B (30 marks)

Answer both questions.

5. Bhranti is a 13 year old Asian girl. She has recently moved to Britain with her family.

She started at the local comprehensive school at the beginning of term. She is a bright girl who
works hard at school.

Her father has noticed that Bhranti is very quiet when she comes home and rarely goes out.
She has started to make excuses not to go to school.

Use the above information to answer the following questions.

(a) (i) Identify one expected life event affecting Bhranti’s development. [1]
(i) Identify one unexpected life event affecting Bhranti. [1]

(b) (1) Bhrantiis 13 years old, which lifestage is this? [1]
(i)  State three physical changes Bhranti is likely to experience at this age. (3]
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(c) Bhranti’s father is concerned that Bhranti is being bullied at school.

(i) Suggest two ways children are bullied. [2]

(i1))  Give three reasons why children are bullied. [3]

(iii)  Explain how bullying could affect Bhranti’s development. [4]

(623-01) Turn over.
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6. After her husband died Mrs Jensen was lonely. Several weeks ago she moved in with her daughter
Betty and her family.

Betty and her husband Bryan work full time.

They do not have a mortgage but are thinking of taking out a loan to make another room for
Mrs. Jensen.

Their daughter Sarah (15) has a Saturday job in the local hair salon to earn extra pocket money.

Their son Leon (10) is a lively young boy who loves his mum watching him take part in sporting
activities.

Use the above information to answer the following questions.

(a) Name the type of relationship between (3]
(1)  Mrs Jensen and BIYAN ...

(i1))  Sarah and the manager at the hair SAlOn ...

(111)  Betty @nd BIYAN ..o

(b) Suggest two positive effects and two negative effects on Mrs. Jensen’s well-being now that
she has moved in with the family.

Positive (2]

(623-01)
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(c) Describe two characteristics of ageing that Mrs. Jenson is likely to experience in the future
that would require further support from the family. [2]

(1) e

(d) Explain how the change in the family’s circumstances might affect the emotional
development of the following family members.

(i) Betty and Bryan. [3]
(i)  Sarah and Leon. [3]
Turn over.
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SECTION C (40 marks)

Answer both questions.

7. Between the ages of 3-5 years, children need many things to help them grow and develop.

The family plays a major part in this, but children also need support from others.

(a) Discuss the role of the family in the bringing up of children. [8]
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(b) Analyse the effects of two different types of children’s services on a child’s personal
development. (6, 6]
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8. Lucy is a 22 year old woman living on her own. Her parents and boyfriend live nearby, but she
likes her independence.

Lucy left school at 16 with a few GCSE’s. Since then she has had a number of low paid jobs and is
at present working as a classroom assistant.

Lucy often finds she is short of money and has difficulty paying for essentials such as food, rent
and fuel bills.

She enjoys going to nightclubs with her friends and staying out late, at least three times a week.

She finds it hard to get up in the morning and is often late for work. Her employer has spoken to
her a number of times about her lateness.

Use the information provided to answer the following.

(a) Discuss how the factors of Lucy’s present lifestyle are affecting her health and well-being.

[8]

(623-01)
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(b) Lucy is at risk of losing her job.

Evaluate the likely effects on her development and self-concept if Lucy became unemployed.

[6]
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(c) Discuss the ways Lucy could change her lifestyle to assist her development and future
employment prospects. [6]
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FOR CONTINUATION ONLY
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